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>> syms X
>> £ = s, b

>> diff (£, srie i, iie & 45 )
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1 Jks
>> syms X
>> f = sin(x)
>> diff (f,x,1)

ans =

cos (x)
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>> syms X
>> f = x*exp (x)

>> diff (f,x,5)

ans =

5*exp (x) +x*exp (x)

>> syms X
>> £ =

>> diff(f,x,2)

ans =

-1l-cos (x)"2/sin (x) "2
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(p: i) f(x)=log(sin(x)Vx+1) .1

(o5 5 dsl Grie)  f(x) =€ (sin(5x) + 3cos(2x)) 2
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>> syms X

>> f = JIQJJ)}ACU

>> limit (f,x,a) = Ilimf(x)

X—>a

>> syms X
>> f = (1+1/x)"x

>> 1imit (f,x,1inf)

ans =

exp (1)

>> syms X
>> f = (2*x"2+1)/ (x"2-1)

>> limit (£, x,1inf)

ans =

1. lim 22
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>> syms X

>> f = ijbjjﬁcu

>> int (f,x) = jf(x)dx
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>> int (f,x,a,b) = jf(x)dx
1 Jks
>> syms X
>> f=sin (x) *x
>> int (f, x)
ans =
sin(x)-x*cos (x)
2 Jle

>> syms X

>>f = exp(x)*(sin(x)+cos (x))

>> int (f, x)

ans =

—exp (-x) *cos (x)
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3 Jks
>> syms X
>> f = sin(sqrt(x));
>> int (f,x,-2*pi, 2*pi)
ans = 2!
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1. .Ix tan(x)dx

2. ]icos(x)cos(2x)dx

0

3. 2jfsin(x) exp(x)dx
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jifoﬂ = symsum(f,n,a,b)
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>> dsolve(’Dﬂny = ujgu%mo:ﬁcu' poadgl sl s )
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>> dsolve ('Dy=1+y~2"','y(0)=1")
ans =

tan(t+1/4*pi)
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dx x

>> dsolve ('D2y = cos (2*x)-y','y(0)=1','Dy(0)=0", 'x")
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ans =

(1/2*sin(x)+1/6*sin(3*x))*sin(x)+(1l/6*cos (3*x) -

1/2*cos (x)) *cos (x)+4/3*cos (x)
>> simplify (ans)

ans =

-2/3*%cos (x)"2+4/3*cos (x)+1/3
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>> dsolve ('D3y=y','y(0)','Dy(0)=-1",'D2y (0)=pi')

ans =

(-1/3+1/3*pi) *exp (t)-1/3* (1+pi) *3~ (1/2) *exp (-
1/2%t) *sin (1/2*3~(1/2) *t)+(1/3-1/3*pi) *exp (-
1/2%t)*cos (1/2*3~(1/2) *t)



